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T 3597
HEITRGT 3911 %1 Sigad Gragr1 & 9ieq 3R F7ehT 9IerT BT :

(1)
(i1)
(iii)

59 F97-97 H 30 F97 & | @4t 397 SfAard & |
Yo7-97 gid @US] 4 [Qyifaad 8- @ue @, &, M, 409 & |
GUE & - 7 &4 1 8 12 7% Fglashedid JHR & o7 & | 4% o7 1 37% &1

g/

(iv) WU G- ¥o7 G&IT 13 G 18 7% TY-IRIT FHR & Fo7 & | Je9%h Jo7 2 37b] %7
8 | J% F97 H IT 50 & 60 Jrsg] § AT |

(v) TS T - Fo7 G&IT 19 G 28 7% 5-3T0T JFRI 3 J97 & | I9% Jo7 4 371 T
& | I F97 BT IR 100 & 120 ¥1s5) § o7y |

(vi) TS G- F57 G&IT 24 & 26 TRV, FIg7 TIT FHTT-STENRT Jo7 & | IA% T
H7 T TAFAR [T1ET |

(vii) TUE F- 97 G&I71 27 T 30 7% 5-3707 FHEII & J97 & | Ied% T97 6 3] HT
8 | Je% Fv T IT 170 T 180 V=5l 7 1ARgT |

(viii) ¥7-97 7 HI3 TAT [GoheT 787 & | TeT FT Fo71 H ARk faheq & J1Tagr 71
T 3 | 57 F9A 7 @ a7 Uek &1 §97 & I o7 e |

(ix) 3% 3w, &M G 19 gheanea e & forg wiat aour amAf=a 37fs 3meia
Yol @ €I R T 37 o7 1397 71 8 | 37 Fo] & I HacT Greanea wiamai &
el

WUE &
¥ G 1 & 12 7% Sglaswedid YR & 1 3% & 97 & | 12x1=12

1.

uTfehEa & fefaIfigd sEehl &l 3T ST HTa o SHICTHATIER  Safeed
$ifST :

(i) IRa HEr3ass
(i) SR Y

(iii) RS B

(iv) iR Tl Yool
g faeheu T‘:I:EI'Q :

A)  (@1v), (@), (id), (iii)
B) (1), (i), (i1), (iv)
(C)  (iv), (i), (ii), ()
(D) @), (1), (iii), (iv)
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General Instructions :
Read the following instructions very carefully and follow them :

(1)
(i1)
(iii)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.
Section A — questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 13 to 18 are Short Answer type
questions. Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C — questions number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question in
100 to 120 words.

Section D - questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

Section E - questions number 27 to 30 are Long Answer type-II questions.
Each question carries 6 marks. Write answer to each question in 170 to 180
words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

SECTION A

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark

each.

1.

12x1=12

Arrange the following rulers of Pakistan in the chronological order as per

the period of their rule :
) General Zia-ul-Haq
(i1)  Benazir Bhutto

(iii) General Musharraf
(iv)  Zulfikar Ali Bhutto

Choose the correct option.
(A)  (@v), (), (D), (1ii)
B) @), (i), (1), (iv)
(©)  (Gv), (i), (i), (1)
D) (@), (i), (iid), (v)

11-59/1/3 3 P.T.O.
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2. T=faRed § 9 HH-A1 o0 SEw iR § e 787 fean S g 2

(A) TR B) =M
(C) e (D) T
3. fmafafad & & SH-91 30 RHIH *1 T GEA9h 9 787 & ?
(A) famgR (B) 9mgcis
(C) WIMER (D) ZuSHEMET
4. ‘st i Aa-faram 1 Tk v ol § S |
(A) =i B (B) THUET 7
(C) HAIcHS & (D) HSHS 2
5. fmfafgd # 9 ®H-A1 T Jaed 18& i faew fifd =1 yg@ d&a 757
o7 ?

(A)  hied Tu¥ & UTH YA shl TUYAT ! =TT TE&HT |
(B) YRd <l &f1T Srgvear <hl &1 & |
(C) WRA ! Teh WA Itk §HMT |
(D) dig amides foaehm = sigram & |
6. 1950 % T o S WA 3T FANERT o Faui T w16 rEgarar off Fifh
(A) YRd  Hifdd 99 & 919 Geg] § geviidr 9¢ & off |
(B) Wifod @9 3§ W AU T e |
(C) YR A1l (NATO) 1 Ueh HGET &1 o7 |
(D) WA T fRua Tgie (NAM) 1 TEATIh TS o |

J97 G&IT 7 & [o7G, §1 FYT RT T E — 7 TH B SARYT (A) a9 &I
HRU (R) ZRT 37Hd 1637 77 8 | 37 H971 &1 &7 @ glew 3k 17 3w 71w ’
(A), (B), (C) 31T (D) ¥ & 3R & &Y 7 & l[asey iy |

7. SYFHYT(A): TEEYUA H s ¥ WIHA BId & S 9= FHA I Uk e I8
T8 L o T T shed 33 8 |

FRU(R):  Tohell 311 @1 ryan TeayH i ol H oAUl yurel w;khk
TG o fIU 31 TEEYT 99 @ |
|<==|3l$c'CI:

(A)  ANRYT (A) I FHRO (R) HT T& &, 3 HR0T (R), ANHIAT (A) H
gl ST HLdT 2 |

(B)  AYhYH (A) 3R SR (R) THI F&l &, g RN (R), AMTHH (A) H
e AT g7 1 8 |

(C) 3ARYA (A) Tld 7, mwmmﬁ%

(D) ARYE (A) T& &, g SRV (R) T 3 |

11-59/1/3 4
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Which one of the following countries is not included in ‘South Asia’ ?
(A) Bangladesh (B)  China
(C) Bhutan (D) Maldives

Which one of the following countries is nmot a founder-member of
ASEAN ?

(A) Singapore (B)  Thailand

(C) Myanmar (D) Indonesia

The ‘ASEAN Way’ is a form of interaction that is

(A) formal (B)  confrontationist
(C)  cooperative (D)  provocative

Which one of the following was not a major objective of Jawaharlal
Nehru’s foreign policy ?

(A) To preserve the hard-earned sovereignty of India.

(B)  To protect the territorial integrity of India.

(C) To make India a nuclear power.

(D) To promote rapid economic development.

There was considerable unease in Indo-US relations during the 1950s
because :

(A) India had a growing partnership with the Soviet Union.

(B) The Soviet Union invaded Hungary.

(C) India was not a member of NATO.

(D) India was a founder member of NAM.

For Question number 7, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose
the correct option as the answer from the options (A), (B), (C) and (D) given below.

7.

Assertion (A) : An alliance is a coalition of states that coordinate their
actions to deter or defend against military attack.

Reason (R): Countries form alliances to increase their effective power
relative to another country or alliance.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is false, but Reason (R) is true.

(D)  Assertion (A) is true, but Reason (R) is false.

11-59/1/3 5 P.T.O.
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freferfiea & @ SF-|1 gee & fow @ 1 7 9 757 8 ?
(A)  IATdhdTE (B) GTIAT! I T
(C) M H F& M D) Ig

-1 1 FEI-I1 | T2t e i 3R w&t fashe g

gt AL
1. Hedl A g H R 9gAd () U "t o TR

2. TSA N H w0 () Gy HiE $HEHR

NIUREICIH
3. guHEsf wE.El. daer (iti) =y waeiiel TesYA W EEHR
4. YUES gAEE fGE (iv) TS Saih TeseM
ferepey -

(A)  1-(Gv), 2-(1), 3-(i1), 4-(iii)
B)  1-(), 2-(ii), 3-(ii), 4-(iv)
(C)  1-(Giv), 2-(iii), 3-(ii), 4-(1)
D)  1-G), 2-(iv), 3-(ii), 4-(iii)

IR o fAfaRed gammBRi o 3T SR & STUR W HIeshETaR
afedd it

i)  TEEl. gl

(i) =g IS

(i) . e @

Gv) .. fig

g fashed 9T |

(A) (), (i), (v), (i) B) (b, (iv), (i), ()
©) (), (), Gii), (v) D) (), (), (id), ()

11-59/1/3 6
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Which one of the following is not considered as a new source of threat to

security ?
(A)  Terrorism (B)  Hijacking of planes
(C)  Use of drones (D) War

Match List-I with the List-II and choose the correct option :

List-1 List-I11

1. Clear majority in the 17th (1) National Front Government
Lok Sabha

2. Implementation of the (i1)  United Front Government

recommendations of the
Mandal Commission

3. Prime Minister H.D. Deve (iii) United Progressive Alliance

Gowda Government

4, Prime Minister Manmohan (iv) National Democratic Alliance
Singh

Options :

(A)  1-(iv), 2-(1), 3-(ii), 4-(iii)
B)  1-(), 2-(ii), 3-(ii), 4-(iv)
(C)  1-(iv), 2-(iii), 3-(ii), 4-(1)
(D) 1-G), 2-(iv), 3-(i1), 4-(iii)

Arrange the following Prime Ministers of India in the chronological order
as per their period of rule :

(1) H.D. Deve Gowda

(ii))  Chandra Shekhar

(iii) P.V. Narsimha Rao

(iv)  V.P. Singh

Choose the correct option.

(A) (D), (1), (iv), (iii) (B) (i), (iv), (i), (i)

(C) (D), (1), (iid), Gv) (D) Gw), (), (i), (1)

11-59/1/3 7 P.T.O.
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YA § Y A g9 & qd Fefafed § @ - guend o 2
(i) Y Al FEEAT

(i) QT gehe

(iii) 34k aui

(iv) Toceft gg-vier # =+

g forehed T |

A @, G B) (i), (v)

©) @), (i), (v) D) (i), (id), (iv)

A SR wWE ¥ wefud, Mefdiad o 6 8 7ora hUd Sl qgaH
SHifST |

(A) Y 1966 T I8 HIUF TTET & AT o €9 § e foha |

(B) I ¥ % Fcushial & fore @l ulmesd & ge @ |

(C) T I GHeAT 1 TR 3194 W o FY, I8 Hel1d HEHSA § AN
g feam o |

(D) = JaH S foram’ 3Rt Ufg I o |

Qe @
T H ‘Td-sed’ viee o 31 <l same HifSu | 2
TIH TSE T AY AR TS1 o hIE g oy fafau | 2

qrferEd™ H TARf Alehdd hl TATYET H FEHAT o [0 SRRt formgl & sheni
=1 =T i | 2

11-59/1/3 8
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11. Which of the following problems did India face before the 4th general

elections ?
(1) Failure of monsoon
(i1))  Food crisis
(iii) Heavy rainfall
(iv)  Depletion of foreign exchange reserves
Choose the correct option.
A (1), G (B)  Gid), Gv)
€ (@, a1), Gv) (D) (i), (ii1), (iv)
12. Identify the false statement from the following related to Lal Bahadur
Shastri.

(A) He worked as the General Secretary of the Congress Party till
1966.

(B) He was in the Union Cabinet for a short period of three years.

(C) He resigned from the Union Cabinet taking responsibility for a

Railway accident.

(D) He gave the famous slogan ‘Jai Jawan Jai Kisan’.

SECTION B

13. Explain the meaning of the term ‘defection’ in politics.
14. State any two advantages of international organisations like the UNO.

15. Explain any two factors that are responsible for Pakistan’s failure in

building a stable democracy.

2

11-59/1/3 9 P.T.O.
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WA o FAISHT AN 1 T foher o o 3R 8 g3 2 2

AT o HiAGH i Tohegl 31 foRIvaTsti %1 IAFR HINT | 2

I U3e ol (3NeiEt) o TaHIfae 3T AT grdi ol U o & WRd @

TSI Al T gU THTE 1 SaReAl i | 2
QUL T

TYH g Gl ufvg & ¢ TR vd o wew & fow 1997 # wwatfad
fopT MU feregl TR HHCUET o1 Ui <hHifaY | 4

(%) WHaAr 6T G HT TAER TEI R 7 ? WGl hI G b GhIv q

STIeh GSeehivl H TR T T | 4
teran
(@) S qun SThiehT % U Tada <Nl o THET IS YA I hl ST
SIS | 4
(%) FUI €9 % A1 TEA H1 ATHTH HINT | 4
atera
(@) IRASE HiTe o AR W U T4 i {HehT 1 380N hl TgEaT 9
fergerwor fifsr | 4
Hug a3 fre yer 20 W § fafim @ it wnfat % wew wmies
TEHYA 1 T o TR ? T2 HIWT | 4
1999 % HRATA Toy o foq ITRarR aifefaal &1 fovemor i | 4

11-59/1/3 10
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In which year was the Planning Commission of India set up and how ? 2

Highlight any two features of the Constitution of Bangladesh. 2

Explain the impact of acceptance of the political and social claims of the
Other Backward Classes (OBCs) on the political parties of India. 2

SECTION C

Describe any four criteria proposed in 1997 for new permanent and

non-permanent members of the UN Security Council. 4

(a) What is the primary goal of human security ? Explain the

difference between the narrow and broad concepts of human

security. 4
OR
(b)  Explain the security challenges faced by the newly independent
countries of Asia and Africa. 4
(a)  Assess the economic importance of the European Union. 4
OR

(b)  Analyse the role of the European Union as a supranational

organisation with the help of examples. 4

How was the Congress party transformed into a social coalition of classes

and castes in the 202 century ? Explain. 4

Analyse the circumstances that led to the Kargil conflict in 1999. 4

11-59/1/3 11 P.T.O.
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LCLER>)
24, fo=feRaa saaw & ermyes ufew it fiw fou o yodi & s e . 4xi=4

IR Th TEAAH FEURON & | FEh b HEW & N IAh o=
3rep-Sler Ve fopam ST =1RRT | I8 TH &A1 Tad & foh Jeelleu w1 Fed T
M 7 | 3k 3H g, Ig HH o1 Ht YA M foh AvelioRtul TeheH HIEEhIdeh
qNEEAT 8 | JTehtT 1 9T SEITTH] @ 8; 98 $© AU I STrehAl hi
e 3feres YMTferd hiaT B | UE H TR B ST g o fofime Hewt W wiy
2 feu fomT, g0 SEishor & I9E & SR H 9d-Gm 5y e 3 9w
H |

() Tfafea @ @ SH-E1 W, Ao &1 W 757 7 2
A)  TsHid® (B) Afd®
(C) |EhidH (D)  ofeeh

(i) vt ¥ gefya fF=fafaa waai @ @ a1 ad 787 2 2
(A) Tenfiehe waeht T, 4oft, awgent ofR oim & Jarg | v
HES Bl & |
(B)  ovetentr fafim g <ht whicai =t ywifod st 2 |
(C) g Trqul fava ol 99 &9 & JuIfad il |
(D) S« &I 3nfes weATd "fdd Bl 8, dl ITh1 9 dfvdgs T W

ey o STar 7 |
(iii) Ueh STTUNON o ®Y H Avdlehtu HHfilad § § forg T & 919 Fefiq
T 82
(A) fo= & vaE @ B) Uit w@wd
(C) ATt &% yarg @ (D) NN % YaT8 9
(iv)  ISTRIUT ST THTS TTF: AT Bidl & ?
(A) ThdaHM (B) 3AGHEH
(C) W&l (D) &=

11-59/1/3 12
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SECTION D

Read the following passage carefully and answer the questions that
follow : 4x1=4
Globalisation is a multi-dimensional concept. It has various
manifestations, and these must be adequately distinguished. It is wrong
to assume that globalisation has only one dimension, just as it would also
be mistaken to assume that it is a purely cultural phenomenon. The
impact of globalisation is multi-dimensional; it affects some societies
more than others and it is important to avoid drawing general
conclusions about the impact of globalisation without paying sufficient

attention to specific contexts.

) Which one of the following is not a dimension of globalisation ?
(A)  Political (B) Ethical
(C)  Cultural (D) Economic

(ii1)  Which one of the following statements related to globalisation is

not correct ?

(A)  The technological advances do help a lot in the flow of ideas,
capital, commodities and people.

(B)  Globalisation affects the cultures of different countries.

(C) It affects all over the world equally.

(D) When major economic events take place, their impact is felt
at the global level.

(i1i)  Globalisation as a concept does not deal with which one of the
following ?

(A)  Flow ofideas (B) Flow of capital

(C)  Flow of rivers (D) Flow of people
(iv) The impact of globalisation is vastly

(A) even (B) uneven

(C)  discriminatory (D) regional

11-59/1/3 13 P.T.O.
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25. WA % T MU oo WI-aHEE (58 15 W), # IR T3 w1 @, @), ©
qar (D) & grr SAferd fohem w8 | i § ME SRR & IMYR W 3T TSl H
UgeH hIfT SR 9t ITR-gfeaer A 396 T AW, T A TS TSR h
HH-GEAT qAT gHres § fear wn wefya 1R, = & w8 aiferer & w9 H
fefan - Ix1=4

TN <l e THeRR | HErEe | e
Y HE-TE TR EEiYd 3781

Y <l HH

(i)

(i1)

(iii)

(iv)

() a8 T~ fe@ qd vt el = fig gefa o |
(i) 98 Tsg red @ 39-gumest srsitas a9 wefa O |
(iii) I8 TS gl TFocAare gad 31fees afsha 3 |
(iv) T TST & ° HF U1l 1977 % ich 991 &1 H Tep ot wie & Sfia
T8 off |
Fig:  FHERIRIT J97 #ac gIRETEaa qheniaar & o7q 397 &1 25 & €& T/
g: 4x1=4
(25.1) 3W =T &1 9 TaRgu &7 Jederand! gad 3ifees afha o |
(25.2) 3 TSF &1 AW fafew e 9@ wamweh <tad = 48 &1 geg

or |

(25.3) T TS &1 AW faRau S&f § UF 91l 1977 o Al 991 Al o
had Teh Hie Siid 18 off |

(25.4) 3G T &1 AW faRgu &7 MUst <os 3 1974 — 75 U B A
1 qca foRaT o |

11-59/1/3 14
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I G. 25 o fQ

km Scale 1:15000,000 km
100500 100 200 300 400 500
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25. In the given political outline map of India (on page 17), four States
have been marked as @A), B), © and D). Identify these States on the

basis of the information given below and write their correct names in

your answer-book along with the respective serial number of the

information used and the concerned alphabets given in the map as per

the following format :

Serial number of the
information used

Concerned alphabet
given in the map

Name of the
State

(i)

(ii)

(iii)

(iv)

4x1=4

) The State related to former Prime Minister Chaudhary Charan

Singh.

(i) The State to which former Deputy Prime Minister Jagjivan Ram

belonged.

(i1i) The State where the Naxalites were very active.

(iv) A State where the Congress party could not win even a single seat
in the Lok Sabha elections in 1977.

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 25 :

(25.1) Name the State where the Naxalites were very active.

(25.2) Name the State to which former Prime Minister Chaudhary
Charan Singh belonged.

4x1=4

(25.3) Name a State from where the Congress Party could win only one
seat in the 1977 Lok Sabha elections.

(25.4) Name the State where Morarji Desai led the Students’ Movement

in 1974 — 75.
11-59/1/3
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For question no. 25

T Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
[ —  — —
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1+1+2=4

T T T YA I THN b T W FEUA & | Hled HI T HIWT
3R F=fefad gt o I SN

26.

T AT HT TAHTS A FY AT I TG HL IGH! AW AT |

(i)

T IS fomam o 2

>

Torm Toifaes oidlt 3 T I

(i1)

e

Fled # fe@mu mu fAedl o ygmWGRT ® ggEH W 3T AW fafen

(iii)

o |

~
(ehd|

%! FHRT I e

ECAERICERE

o

18

11-59/1/3



®collegebatch con

26. The given cartoon is related to the era of coalition governments. Study

the cartoon and answer the questions that follow : 1+1+2=4

(i)

(i1)

(iii)

11-59/1/3

Identify and name the leader who is holding the placard ‘Rath
Yatra’.

Which political party organised the ‘Rath Yatra’?

Identify and name any two Prime Ministers shown in the cartoon
who led the coalition governments.

19 P.T.O.
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qig:  [AEiEd 3o 9 GRETaa qhmndat & o9 J97 &1 26 F F T/
g: 2+1+1=4

(26.1) HUSHA AN h! THHINEIT I AR L 1 HHAT fhH ToadH THR A
fopam o ST =i 2

(26.2) YA % Ugd N-hUH TUHE] o1 M fafgu |

(26.3) 38 TIHA 1 AW faRau e W8 1996 ¥ S0 1996 T Tesgd i
LRI I Agcd Tohal |

Qs &

27. (%) 1979 ¥ 1985 d IGH § &gl NN o favg ool ATqre & fohegl dH

T 1 fargetyor Hifom | 6
BPE)
(@) “efta ThiaTd Arharf=ieh TSHIfd 1 AT 3 & |7 HaT i
T 38T | 6
28. (%) dfvash TR W ATl i fohegl oiH I Al i Tq5¢ HIRT | 6
AT
(@) vateror &t W & U YRd THR g 33T MU fohedi IR shedl
ST I | 6
29. (%) 1948 T BUETE & WA H faorg & forw swrgrft uitfeufast qen wefea
TR T JUF i | 6
AU
(@) fafew sfeean & favrem & fordl = wfoommi &1 avfe fifse | 6

11-59/1/3 20
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 2+1+1=4

(26.1) Which coalition government decided to implement the

recommendations of the Mandal Commission and why ?

(26.2) Name the first Non-Congress Prime Minister of India.

(26.3) Name the Prime Minister who headed a coalition government
from May 1996 to June 1996.

SECTION E

27. (a) Analyse any three reasons for the movement against outsiders in

Assam from 1979 to 1985. 6

OR

(b) “Regional aspirations are very much a part of democratic politics.”

Justify the statement. 6

28. (a) Explain any three common demands of the indigenous people at

the global level. 6
OR

(b)  Explain any four steps taken by the Government of India to protect

the environment. 6

29. (a) Describe the circumstances and events that led to Hyderabad’s

accession to India in 1948. 6

OR

(b)  Describe any four consequences of the partition of British India.
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30. (%) “YNd AR FF & FaUl H sfagm@ A9 fovamm IR g faqt =1 sfogma

2 1” foredl i SUh dehl gRT S ST THH HITT | 6
AYAT
(@) wifoad @9 & foged & a1g e A & fopedl @9 wwmal o1 fawemwm
i | 6
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30. (a)

(b)
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“India’s relations with Russia are embedded in a history of trust

and common interests.” Support the statement with any three

appropriate arguments. 6
OR
Analyse any three effects of shock therapy after the disintegration
of the Soviet Union. 6
23
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